Get Latest Pharma Private/ Govt. Job updates | Download B. Phama/ D. Pharma University Exam Papers | Previous Pharmacist/
DI/ GPAT/ NIPER Papers | Pharma News Updates | D. Pharma Notes | Pharmacy College Informations | Pharma Industry Updates
Visit: https:/pharmacyindia.co.in

DGHS Pharmacist NITRD

Topic:- 54_DGHSDEC23

1) Amrange the following dispersed system on the basis
of decreasing size of the dispersed phase.
|. Calloidal dispersion
Il. Coarse dispersion
I1l. Melecular dispersion

||\ gy
[1]. SATT=F 91907

[Question ID = 430][Question Description = Q01_54_DGHSDEC23]

1. 1AL

[Option ID = 1717]
L
[Option ID = 1718]
3001
[Option ID = 1719]
4L

[Option ID = 1720]

Correct Answer :-

(A

[Option ID = 1720]

Fluids that cbey Newton's law of flow are referred to as

d @R uerd Sl e @ Ydig & 199 Bl Ul @Rd 6 376
&gl Sl ¢ |

[Question ID = 431][Question Description = Q02_54_DGHSDEC23]

- Newtonian fluid / 7Z=T 77

[Option ID = 1721]

2. Ghmic fiuid / ST AT
[Option ID = 1722]
3. Bohrluid / 317 7957
[Option ID = 1723]
4. Maxwell fluid / F797 777
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[Option ID = 1724]

Correct Answer :-

®  Newtonian fluid / 7=HT 777

[Option ID = 1721]

Which of the following is NOT an advantage of
powders?

R R R A R L R 0 e A =

[Question ID = 432][Question Description = Q03_54_DGHSDEC23]

Powders are usually more stable than
1. liguids / IT337 ATHTAT: 25 G211 6l 7]
CR e T R C

[Option ID = 1725]
Incompatibility is more in case of powders
2. than liquids /757 9214 #T AT A 9927 &
AT 5§ AEATA ASH
[Option ID = 1726]
They are more easy to carry than liquids /
3. 2 T T AT AT ST S 6 AT
ge
[Option ID = 1727]
They are more economical as compared ©
4. otherdosage forms/ T Wm—ﬂﬁﬂ'l”wﬁ'ﬁ
T AT AT AT

[Option ID = 1728]
Correct Answer :-

Incompatibility is more in case of powders
than liquids /&35 T=T4 %1 747 § 9722% 3
HTHT H AHATAAT AT g

[Option ID = 1726]

4 }
) What amount of sulphacetamide is presentin

Nebasulf dusting powder?

TATHE S 1327 § GoTaars s &l A [ |77

[Question ID = 433][Question Description = Q04_54_DGHSDEC23]
1. 10mg/ 10 =

[Option ID = 1729]
2. gmg/6
[Option ID = 1730]
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3. 80 mg/60 .

[Option ID = 1731]
4. 120 mg/ 120 faam
[Option ID = 1732]
Correct Answer :-

* §0mg/60 I

[Option ID = 1731]

What is the melting point of theobroma oil?

FEATHTAT 71 FT TAA0F ST 2T 27

[Question ID = 434][Question Description = Q05_54_DGHSDEC23]
1. 10°-=15"C

[Option ID = 1733]
2. 30°-35°C

[Option ID = 1734]
3. 50°—580€

[Option ID = 1735]
4. 100°-1057€

[Option ID = 1736]
Correct Answer :-
® 30°-35°C
[Option ID = 1734]

Which of the following is NOT an advantage of
synthelic compounds over cocoa buter?

AT 5 3 S0 =7 B T 'm"r'mr 7 ofEE
FET AT A A6 67

[Question ID = 435][Question Description = Q06_54_DGHSDEC23]

They stick to the mould / § F%= 9 [99% T4

=
g

[Option ID = 1737]
They solidify rapidly / & FTaa7 7 579 579 2

[Option ID = 1738]

They are less liable to get rancid / 799
[Option ID = 1739]

They can absorb fairly large amount of
4 aqueous liquids | T T ATAT 7 THTF 777

3.

[Option ID = 1740]

Correct Answer :-
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They stick to the mould / F F%= 9 T99% A7

=
g

[Option ID = 1737]

What is the maximum dose of Butobarbitone given
arally?

HIFa® =7 T2 AT q1AT sg2aTaerT ol ATaTaT 77
[Question ID = 436][Question Description = Q07_54_DGHSDEC23]

1. 10-20mg/ 10—20 7.

[Option ID = 1741]
2. 0.1-02mg/0.1—-0.2 T,

[Option ID = 1742]
3. 100-200 mg / 100—-200 fra.

[Option ID = 1743]
4. 1000 — 2000 mg /1000 — 2000 T&.am.

[Option ID = 1744]

Correct Answer :-
* 100-200mg/ 100 -200 &%

[Option ID = 1743]
When an abnormal or unusual reaction is produced by
a drug itis known as

AT EAT 5T H AT

[Question ID = 437][Question Description = Q08_54_DGHSDEC23]
1. Hypersensitivity / 51T qamizZaT

[Option ID = 1745]
2. Addiction / 7@

[Option ID = 1746]

3. Idiosyncrasy (FHT T
[Option ID = 1747]

4, Habituation / =707
[Option ID = 1748]

Correct Answer :-
* |diosyncrasy / W A19TET
[Option ID = 1747]
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?) When the combined effect of two drugs administered

is greater than the sum of their individual effects, itis
known as

T =1 TE 3T STATEAT T G475 THE 39F AT THE] &
AT Af® g 2, AT 2 FEY § JE AW 5

[Question ID = 438][Question Description = Q09_54_DGHSDEC23]
1. Synergism /FTAATTZAT

[Option ID = 1749]
2 Antagonism / f77s

[Option ID = 1750]
3. Potentiation / ST TH

[Option ID = 1751]
4. Accumulation | 5T

[Option ID = 1752]

Correct Answer :-
®  Potentiation / s/ 95T

[Option ID = 1751]
Which of the following examples of pharmacautical
appl'ication of rheology is correct?
I. Polymer solution are-used as wetting agenis for
caontact lenses.
II. High-molecular — weight sedium hyaluronate with a
concentration of 0. 1 percentto 0.2 percent is used for
dry eye condition.
Ill. Poloxamer vehicles are used in dermatological
bases.

ST % St s = e i O

AT o =9 7 (AT A7aT 2

1. 0.7 wizrerea T 0.2 Fiaer &1 qi5ar a0 Tg-ATa5-977
T A28 graraI+e T STA 0T 5 95 Tl (2410 & 7
[ERIEIGIE]

|11, GTITaTH. ATgA | 0l SHAT =T as T SAETe ] 3 o]
EIEIE]

[Question ID = 439][Question Description = Q10_54_DGHSDEC23]

1. Only | and || /=T | 74T |

[Option ID = 1753]
Only | and 11l /3= | 74T |1

[Option ID = 1754]
3. Only Il and 111 /3= || 79711

[Option ID = 1755]
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4. A, Hand /0, IFFET I

[Option ID = 1756]

Correct Answer :-

e L Aland I/l 11747

[Option ID = 1756]

Which of the following statement is correct regarding
drug absorption from the gut?

|. It depends on the drug's solubility.

[l. It depends on the intrinsic dissolution rate in the Gl
fluids.

[1l. It does not depend on the drug’s particle size and
surface area.

AT & ST AASTAT & T2 H (A0 aT A A AT A
| IZ SATafEr & AT 9e HH w2

I T ATATE. 990 G214 8 e 29 T4 =7 U7 (797
FAT 2l

|11, g S fE & FOT AT T ATE A T T AR A
E:

[Question ID = 441][Question Description = Q11_54_DGHSDEC23]
1. Onlyland [l/F3a lagrl

[Option ID = 1758]
Only | and 111 £5&er | 797 11

[Option ID = 1760]
3 Only Il and 111/ 3=wT 1| 74T

[Option ID = 1761]
4. |, land 1L L FET ]

[Option ID = 1763]

Correct Answer :-

® I Iland L/ L 1 FET L]

[Option ID = 1763]

How many phases of clinical trials are present in drug
development?

?@Wﬁﬁw&wuﬁw%%ﬁww@ﬁaﬁ

[Question ID = 442][Question Description = Q12_54_DGHSDEC23]
1. |

[Option ID = 1765]

2. .
M
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[Option ID = 1767]
3. 3

[Option ID = 1769]
4. 7

[Option ID = 1771]
Correct Answer :-
® 3

[Option ID = 1769]

13) Oil and water are immiscible with each other. They can
be made miscible by .
T TAT ST UF 287 7 AT 2| Ie T
T g =7 A%y gl

[Question ID = 445][Question Description = Q13_54_DGHSDEC23]
1. Emulsification /93H &0

[Option ID = 1774]
2. Absorption / ST
[Option ID = 1776]
3. Accumulation / F59

[Option ID = 1778]
4. Dissolution / I3

[Option ID = 1780]

Correct Answer :-

o Emulsification {FTEHTHI0T

[Option ID = 1774]
14)  The amount of strychnine present is 0.125 gm per 100
mi of incture nux vomica and the solubility of
strychnine is about 1 In 7000, Le. 100 ml of water will
dissolve

o= Fa AT & 919 100 F.AT. 5 29iegd fegdiT 41
HTAT 0.125 919 2 747 g1 i gomsi (a7 7000 5
T 1 2, AT 100 AT w9 o ST

[Question ID = 446][Question Description = Q14_54_DGHSDEC23]
1. 1 gm of strychnine / | T fFgs 1T

[Option ID = 1781]
2. 0,143 gm of strychnine / 0.143 T EEFwiT

[Option ID = 1783]
3. 0.5 gm of strychnine / 0.5 777 F=FwT

[Option ID = 1785]
4. 1.2 gm of strychnine / 1. TT9 &+
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[Option ID = 1787]
Correct Answer :-
®  0.143 gm of strychnine / 0.143 I19 EzFi T

[Option ID = 1783]

Which of the following is NOT a test for identification of
type of emulsions?

T 7 T F0T AT FH R B AT A0 TE AT o
[Question ID = 449][Question Description = Q15_54_DGHSDEC23]
1. Dilution test/ TAT 7147

[Option ID = 1790]

Z. Conductivity test / STermT 97 1477

[Option ID = 1792]

3. Distilation test/ FTEET T &0
[Option ID = 1794]

4. Fluorescence test/ Sid=11a 971470

[Option ID = 1796]

Correct Answer :-

®  Distillation test/ FTEaT TG

[Option ID = 1794]

Which of the following statement is comrect related o
the function of Alkaloids?

l. They are detoxicating agents.

[l. They are reservoirs of protein synthesis.

Tk 122 o W19 A Ga 9T e irad 44 519 97 9T
L. 7 Taorers ATl 2
11, = ATETT HE[AT & H=17 2
[Question ID = 450][Question Description = Q16_54_DGHSDEC23]
. Only /&7
[Option ID = 1797]
2. oplyll/F=TIl
[Option ID = 1799]
3 Bothland |l /7971 ZFT
[Option ID = 1801]
4. Neither | nor |1 /ATET AT 1)
[Option ID = 1803]

Correct Answer :-

Both | and |1 /| 797 1| 7
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[Option ID = 1801]

Which of the following statement abaut the
organoleptic characteristics of digitalis Is incormrect?

|. They have dark greyish-green colour

|l. Their size Is 100 to 400 cm long and 40 to 200 cm
wide

i i .Y
£

TRz iore 1 A2 ATg] ATHa & 929 5

Frafafaa 5 T i o7 w97 98 98 27

|, ST ¥ AT IT-RIT AT 2

|1, Z9T STFT7 100 T 400 T.57. 747 747 40 7 200 7.47.
[Question ID = 452][Question Description = Q17_54_DGHSDEC23]
. Onlyl/FaTI]

[Option ID = 1805]

2. Onply Il /F=T ]

[Option ID = 1807]
3. Bothland |l /| 747 1| =47

[Option ID = 1809]
4. Neither | nor || /T2 | FTET I
[Option ID = 1811]

Correct Answer :-
*  Onlyll /%I

[Option ID = 1807]

The homogeneous combinations of resins with volatile
oil is known as

=Y F FAT AT 2

[Question ID = 455][Question Description = Q18_54_DGHSDEC23]
1. Oleoresins / AT =T

[Option ID = 1814]
Oleogum / FfFETH
[Option ID = 1815]

3. Glycoresins / TTEFTCET
[Option ID = 1817]

4. |poresins / AEST A
[Option ID = 1819]

Correct Answer :-

*  Oleoresins / ST

[Option ID = 1814]
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19)

Rauwaolfia comes under which type of drug in
pharmacognosy?

FTETHREAT H A EaT o AT T AT & S

[Question ID = 456][Question Description = Q19_54_DGHSDEC23]
1. Aniihypertensives / 793219 fTHH

[Option ID = 1821]
2. Analgesic/ F=TET

[Option ID = 1823]
3. Antihistamine / W21

[Option ID = 1825]
4. Antipyretic / s97g7

[Option ID = 1827]

Correct Answer :-

o Antihypertensives / ¥FI=1d fTHH

[Option ID = 1821]

What percent of maisture is present in gelatin?

=

TSTeiTes & (6 A1 s=dl 391090 a7 27

[Question ID = 459][Question Description = Q20_54_DGHSDEC23]
1. 0.7-0.9 percent /0.7 —0.9 5fasa

[Option ID = 1829]
2. 7-10 percent! 7 - 10 s

[Option ID = 1831] :
3. 17—20 percent/ 17 — 20 Wioord

[Option ID = 1834]
4. 70-80 percent/ 70— 80 FfAerT
[Option ID = 1836]

Correct Answer :-
® 1720 percent/ 17— 20 Widsa
[Option ID = 1834]

Which of the following is NOT an organoleptic
character of ergot?

frraferfam 5 & S &1 e #1 S AT T TE g?

[Question ID = 461][Question Description = Q21_54_DGHSDEC23]
1. Unpleasantin taste / =12 § 5193

[Option ID = 1838]
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2. Itis brittle with short fracture / 92 Zi
ARG F AT BT
[Option ID = 1840]
3. Odourless / THET

[Option ID = 1842]
Externally it is dark viclet to black calour /
A A EY T AR T A A FA TR BMATE

[Option ID = 1844]

Correct Answer :-
*  Odourless /TH2MA

[Option ID = 1842]

Cinnamon comes under which type of drug in
pharmacognosy?

WTHTHIATAT H STAAIT1 ohe T2 i ACIS & AT0T A

g7

[Question ID = 462][Question Description = Q22_54_DGHSDEC23]
1. Cardiotonic/ T2 elH%

[Option ID = 1845]
Anti-malarials FFey 77 5

[Option ID = 1847]

3. Anlllﬂstamineiﬁ%'&'rﬁ‘rr

[Option ID = 1849]
Carminative and gastro-intestinal regulators
| TS T4T A5 AT

[Option ID = 1851]

Correct Answer :-
Carminative and gastro-intestinal regulators
| ATATFATAE T4 A5 HATHE

[Option ID = 1851]

Which of the following is NOT used as a local
anaesthetic because of its drug abuse?

A= 359 ATGa & B0 HH T 7 H T 2990
TATHIA Aa=ATgI 1 & =9 H d2] 4] AT 27

[Question ID = 465][Question Description = Q23_54_DGHSDEC23]
1.

Cocaine | #aT
[Option ID = 1854]
Procaine / 9T
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[Option ID = 1856]
3. Lignocaine / FHTEA

[Option ID = 1858]

4. Bupivacaine / TTaFT
[Option ID = 1860]

Correct Answer :-

Cocaine | T&A

[Option ID = 1854]
Which of the following statement about paracetamal is
incorrect?
. Itis a potent antipyretic and is equinalgesic with
aspirin in therapeutic doses but devoid of significant
anti-inflammatory effect
I. It produce Gl iritation and affect platelet activity

GATTEETHI @ 529 F fE i iad 4 4 K19 891 557 707 57
|. 7 T STTTRHTT S9eg? & 99T (= a9 A7 7 Tegie
AT SEATAATE & oAEe Ageadn AAA-7 (=] TAT 7
g gl

FATTET WAl

[Question ID = 466][Question Description = Q24_54_DGHSDEC23]
1. Only | /3T |

[Option ID = 1861]

2 Only Il /FET I

[Option ID = 1863] |
3. Both | and |l /| F4T || T

[Option ID = 1865] _
4. Neither | nor || /TET | FTE I
[Option ID = 1868]

Correct Answer :-

Only 11 /T 1l

[Option ID = 1863]
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25
) Which of the following statement abput osmotic

diuretics is comrect?

|. They are pharmacologically inert

[l. They are generally nonmetabolisable

[1l. They are freely filtered at the glomerulus

TITHIU AT F {29 F [EiraT F 5 w0 A7 FET q50

=7

EEipEa o
IR IR LR e Pl PR P TRC EIL -1
1. T BT 7 =0F =9 7 g

—

LR

[Question ID = 469][Question Description = Q25_54_DGHSDEC23]
1. Ohnly land Il /&3 1 74T I

[Option ID = 1869]
Only | and 111 / 3ae | 747 11|

[Option ID = 1871]
3. Only Il and 11l / e || 747 111

[Option ID = 1873]
4. |, Wand AL 1 TET )

[Option ID = 1875]

Correct Answer :-

o | IlandIll/I, II7=T Il

[Option ID = 1875]

Which of ihe following statement is correct regarding
adrenergic drugs?

|, Metaraminel Is used for raising blood pressure.

Il. Depamine Is used for its inotropic action on the
heart.

T ] AT AT & A2 F (e aT F o & ar
FHT Tl 27

|, FHETETTAAT &7 SHANT 75 =19 T2 & (<17 (5G] 707 2
1. STITHIT T SUART 229 97 97 TATA[ 03T & (717 [T
HTAT 2

[Question ID = 470][Question Description = Q26_54_DGHSDEC23]
1. Only|/FTTI

[Option ID = 1877]
Only Il /=T I

[Option ID = 1879]
3. Bothland Il /| 34971 21

[Option ID = 1881]
4. Neither | nor | /FTZT I ATET I

[Option ID = 1883]
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Correct Answer :-
® Bothland!l/|F9T1l =M1

[Option ID = 1881]

Which of the following is NOT an advantage of oral
route of dosage form?

FatfET S5 T 97 937 Fgiew S SiiEE G790 e
T2 22

[Question ID = 473][Question Description = Q27_54_DGHSDEC23]
1. Convenient and safe / HE=TSH 747 120

[Option ID = 1885]
2. Economical ! Fa=AT

[Option ID = 1887]
Complication of parenteral therapy are
3. avoided / AT THATE T ATCATTHA 3 TAT
[Option ID = 1889]
The onset of drug action is tardy / sfrafer it
FIIATE T AT AR

[Option ID = 1891]

Correct Answer :-
Thie onset of drug action is tardy / ST T
FTTATE T STHTT BT

[Option ID = 1891]

Procainamide is used as a cardiovascular drug. Which
of the following is a correct adverse reaction of
procainamide?

|. Allergic reaction Including chills, fever

Il. Cardiotoxicity, hypotension

ATHATHIEE HT ST 22 ATTEHT STI7e & =9 5 FHA7 F77
%11%;3! -ii?ﬁtiﬁﬁ'ﬁ.—' Iﬂ’ﬂ- ;:‘Ii1 HIEE fffﬁg:fﬂ ":__!_u"

| 5% PR, FAT AT TR A AT AT
1. ETET=HaT, AegThara

[Question ID = 474][Question Description = Q28_54_DGHSDEC23]
1. Only | /57|

[Option ID = 1894]
Only |1 /%= ||

[Option ID = 1895]

3. Bothland Il /| 7497 1| FHT
[Option ID = 1897]
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4. Neither | nor || /AT 2T | ATET I

[Option ID = 1899]

Correct Answer :-
® Bothland |l /| 797 | 97

[Option ID = 1897]

is a naturally oceurring purine nucleaside
which is released during myocardial ischemia.

T WTH O T YT 57 17 1T

SIAAATATES & 7 EZ 0T ST AT F 2T AT
GiRLEL

[Question ID = 477][Question Description = Q29_54_DGHSDEC23]
1. Adenosine / TEATER

[Option ID = 1902]
2. \erapamil | FETTE

[Option ID = 1904]
3. Diltiazem ! TEf=ar=m

[Option ID = 1905]

4. |butilide / :-%Iij-"‘ oS
[Option ID = 1907]
Correct Answer :-

*  Adenosine / TEATTEA

[Option ID = 1902]

30)
Oxytocin is a nonapeptide secreted by the Ly
AT BT HTaT UH ATTZEs &

[Question ID = 478][Question Description = Q30_54_DGHSDEC23]
1. Posterior pituitary / 72 47495
[Option ID = 1910]
2. Spinal cord / 94
[Option ID = 1911]
3. Liver/Fdd

[Option ID = 1913]
4. Cochlea/FmaT

[Option ID = 1916]
Correct Answer :-
® Posteror pituitary / 759 1 21_1'31. )

[Option ID = 1910]
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31) How many amino acid single chain peptide are

presentin ACTH?

ACTH H T UTHAT 5T Uaed a7 Iel2s 391ead g7

[Question ID = 480][Question Description = Q31_54_DGHSDEC23]
1. 28

[Option ID = 1917]
2. 15

[Option ID = 1919]
3. g

[Option ID = 1922]
4, 53

[Option ID = 1924]

Correct Answer :-
¢ a9

[Option ID = 1922]

Which of the following statements are correct
regarding Rheumatoid arthritis?

. Itis chronic, systemic and inflammatory disease.
[1. It predominantly affects joints and periarticular
tissues.

=HET A998 § (a5 7 @i g7 A9 qe ]
2

I 272 =T =9 I AT AT T H0E Al Rl T F0T
2l

[Question ID = 483][Question Description = Q32_54_DGHSDEC23]
T Onlyl/EET

[Option ID = 1926]
2 only Il /FET N

[Option ID = 1927]
3. Both land I /| 7= | =T

[Option ID = 1929]
4. Neither | nor 1 /9TET | ATET 1|
[Option ID = 1932]

Correct Answer :-
® Both land |l /| 74T |1 1

[Option ID = 1929]
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33)
Which of the following statements is correct related to

a misbranded cosmetic in the Drug and cosmetics act
19407

|. A cosmetic shall be deemed to be misbranded if it
contains a colour which is not prescribed.

lI. A cosmetic shall be deemed to be misbranded ifitis
not labelled in prescribed manner.

[1l. A cosmetic shall be deemed to be misbranded if
the label or container or anything accompanying the
cosmetic bears any statement which is false or
misteading.

SIS 517 FoATeF ATHHFS 1940 F T A2 910
FIeAT=E F G MAr1Ed 7 F H09 37 799 Jal 27
frayT 7 & T foreie =t 2

LI == T Fiested 97 e a4 & d9e 720 o
AT Z AT 3H T A2 ATAT AT ST

|11, TT i< e 1 Feq #1= 17 AT0AT 915 o= A7
G B ) B A 2 ot N B ) e B e N B e T S

[Question ID = 484][Question Description = Q33_54_DGHSDEC23]

" Only I and 1/ &= | 74T 1)

[Option ID = 1933]

Only | and [1| /=arT | F4T 1

[Option ID = 1935]
3. Only lland 11 f===1 1| =T I

[Option ID = 1937]
4 | Mand 4, 1EEET 1

[Option ID = 1939]

Correct Answer :-

e I Mand /11 FET I

[Option ID = 1939]
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34)
In the context of pharmaceuﬂcar]uﬁspmdence, which

of the following pair is correct?

|. The Pharmacy act — An act to regulate the
profession of pharmacy

Il. The Drugs and cosmetics act— An Act to reqgulate
the impori, manufacture and sale of drugs

AT AT & A2 5, (E AT | 9w 497 4o
| T AT AT — ST o SAFaTE ®l (74 AT T &
TeraTor 97 Tahn 1 =3 #579 & 70 o A =HEs

[Question ID = 487][Question Description = Q34_54_DGHSDEC23]

1.  Only | /FFT|

[Option ID = 1942]
Only |1 /=T []

[Option ID = 1944]
3. Both | and I} | 747 11 ST

[Option ID = 1946]
4. Neither | nor [1 /7727 [ T ET I

[Option ID = 1948]

Correct Answer :-
® Both land Il / | T3 |1 =W
[Option ID = 1946]

As per the D'rugs and Cosmetics Act, 1940, if a drug
contains any harmful or toxic substance which may
render it injurious to health is deemed as

sy sfiT wioafers sifafem, 1940 F sqame, ats &
Tty 5 12 gifAmn AT (a1 9204 2T 2 A 34
FATAT 2

[Question ID = 488][Question Description = Q35_54_DGHSDEC23]
- Misbranded drug / 777 A732 Sate

[Option ID = 1950]
2. Misbranded cosmetics / T FT22 FiegfeF

[Option ID = 1952]
3. Adulterated drug / srfETET s
[Option ID = 1953]
4. Spurious drug / =7 9
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[Option ID = 1955]

Correct Answer :-

Adulterated drug / STTHTE0T SaTE
[Option ID = 1953]

Which of the following Is a funciion and duty listed In
the pharmacy act (1948)7

|. To prescribe minimum standard of education
required for qualifying as a pharmacist.

Il. To ensure uniform implemeniation of the
educational standards through out the country.

rgTeTaT § TR a7 997 FEHET (1948) § 4192
|. IS FFYH ALATATH HTH 5 (A7 AT A
T AT TT A

1. I 25T H SRR HITH] A7 T T F3 720 A5 12T
FAT]

[Question ID = 490][Question Description = Q36_54_DGHSDEC23]
1. Onlyl/FET|

[Option ID = 1958]

2. Only Il /% ||

[Option ID = 1960]
3. Both land |l /| &= Il =TI

[Option ID = 1962]

4. Neither | nor || [ST &1 | A2t I
[Option ID = 1964]

Correct Answer :-

* Both | and || /| 74T (| =T

[Option ID = 1962]

Which of the following statement is correct regarding
the maximum retail price as per the drug price control

order (2013)7

I. Maximum Retail Price = Ceiling Price + Local Taxes
Applicable

I1. Maximum Retail Price = Ceiling Price — Local Taxes
Applicable

ArafE FiEa A A2 (2013) F ATET ASRTH G2
HHT & A= H (Al ad 9 9 w9 A7 599 T2 27

| ATEETH G HET = TFTH AT + AT T T E
I1. stfemae T Fied = 3gad §iHd — A7 S T

[Question ID = 493][Question Description = Q37_54_DGHSDEC23]

Only | /=7 |
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[Option ID = 1965]
Only [1 /=T 1]
[Option ID = 1967]
3. Both land |1/ | 9T 11 =T

[Option ID = 1969]
4. Neither | nor 11 /9727 | 72T 11

[Option ID = 1971]

Correct Answer :-

® Bothland Il /7497l =FT

[Option ID = 1969]

Which of the following statement is comrect regarding
the drug price control order dated 20137

I. No manufacturer or distributor shall withhold from
sale or refuse to sell to a dealer any drug without good
and sufficient reason.

Il. No dealer shall withhold from sale or refuse o sell
any drug available with him to a customer intending to
purchase such drug.

sirafer e g srzsr [0 2013 7 92 7 Meiam
I T AT HAT T 27

| T ¥ FTaT 37 @ 3 9= 7 Wi AT T
CEREIRE T

Al T e A A= A A AT A
T ZAHTT TAl R

[Question ID = 494][Question Description = Q38_54_DGHSDEC23]

1. Only | /FaT |

[Option ID = 1974]
2. Only Il /F=T ||

[Option ID = 1976]
3. Both land I/ | 74T || =FT

[Option ID = 1978]

4. Neither | nor |1 /ATET 1 ATET |
[Option ID = 1979]

Correct Answer :-

® Both land Il /| 74T 1| =T

[Option ID = 1978]
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39)
may be defined as the science dealing with the
study of human population.

FTHIA S AT F SFeEAT 4 4187 499 5 =9
F G TT AT 57 AT 2

[Question ID = 497][Question Description = Q39_54_DGHSDEC23]
1. Demography ! 1992 &AM

[Option ID = 1982]
2. Myology ! FsiTfa=TT
[Option ID = 1984]

3. Viralogy / FARTIITE=T
[Option ID = 1986]

4. Biochemistry / 51 70197
[Option ID = 1988]

Correct Answer :-

*  Demography / ATA9= T&3177

[Option ID = 1982]

Which of the following factors regulate fertility?
|. Spacing of children
Il. Nutrition

TaferfaT & & &7 97 ®i® Ta ST f =T e
7

. FF7 H 5%

I, g

[Question ID = 498][Question Description = Q40_54_DGHSDEC23]

1. Only |/ F== |

[Option ID = 1989]

2 Only I / #=7 1l

[Option ID = 1991]

3. Bothland Il /| 5971l =197
[Option ID = 1994]

4. Neither lnor Il /AT ZT AT 27 1I

[Option ID = 1996]

Correct Answer :-

Both | and Il / | 7= Il T/=7

[Option ID = 1994]
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41) Which of the following are the objectives of family

planning?
|. To avoid unwanted births
[l. To control the intervals between pregnancies

rafafas 7 T &M 7 9737 Harad & 3259 27
|. AT o7 & T4 & o117
|| FTSAT % A1 % Aq77 &l (A AT FeA & [T

[Question ID = 501][Question Description = Q41_54_DGHSDEC23]

1. Only |/ F=3= |

[Option ID = 1998]
2 Only Il / F@e1l

[Option ID = 1999]
3. Both | and Il / | =47 Il =711

[Option ID = 2002]
4. Neither Il nor Il /aTET AT =7 I

[Option ID = 2004]

Correct Answer :-

* Both | and Il /| 74T || =T

[Option ID = 2002]

percent of the body

Proteins constitute about
weight.

HTETT ST77 % |7 1T Al =T 2l

[Question ID = 503][Question Description = Q42_54_DGHSDEC23]
1. 20

[Option ID = 2005]
2. BD

[Option ID = 2007]
3. a0

[Option ID = 2010]
4, 9

[Option ID = 2012]
Correct Answer :-

* 20

[Option ID = 2005]
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43)

What is the sum of the largest three digit number and
the largest two digit number?

HT AT FTE7?

[Question ID = 504][Question Description = Q43_54_DGHSDEC23]
1. 1005

[Option ID = 2013]
2 1090

[Option ID = 2015]
3 1099

[Option ID = 2017]
4. 1p88

[Option ID = 2019]
Correct Answer :-
® 1098

[Option ID = 2019]

The sum of a number and iis positive square root is
72. What Is the value of the number?

T T AR e A 5 AR T2 2T
HAFATE?

[Question ID = 507][Question Description = Q44_54_DGHSDEC23]
1. 64

[Option ID = 2022]
2 100

[Option ID = 2024]
3. 49

[Option ID = 2026]
4. 64

[Option ID = 2028]
Correct Answer :-
* B4

[Option ID = 2022]
e B4

[Option ID = 2028]
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45)
There are twa numbers such that the first number is
half of the second number. If their average is 21, then
what is the Second number?

=T HEATY 28 THIT g 1o Tl | AT, 247 1 9T i AT 2
1= AR AT 21 2, 71 A7 T FT 27

[Question ID = 508][Question Description = Q45_54_DGHSDEC23]

1. 54

[Option ID = 2030]
2. 42

[Option ID = 2032]
3. 28

[Option ID = 2034]
4. a4
[Option ID = 2036]

Correct Answer :-
o 28

[Option ID = 2034]

The marked price of a frouser Is twice of the cost price.
Toeam 40 percent profit, what should be the discount
percentage?

T T AT S S0 ® g o7 21T 21 40 FfasT
TS FATT & (010, 2o FIA9TT 547 g1 ATigy?

[Question ID = 511][Question Description = Q46_54_DGHSDEC23]
1. 75 percent/ 75 Fasr

[Option ID = 2038]
2. 30 percent/ 30 s

[Option ID = 2040]
3. 20 percent/ 20 s

[Option ID = 2042]
4. 25 percent/ 25 Ffaema

[Option ID = 2044]

Correct Answer :-

® 30 percent/ 30 9T

[Option ID = 2040]
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47)
By selling an article for Rs. 1350 a dealer loses 25

percent. At what price should he sell the article to earn
a profit of 20 percent?

T A5 T 1350 FUF F I 97 UF a1 w25 A
T 21T 27T 21 20 T T 70 FA19 & (o070 34 96 F
ToreT 5 97 F9971 AT120 7

[Question ID = 512][Question Description = Q47_54_DGHSDEC23]
1. Rs.2200/2200%9%

[Option ID = 2045]

2. Rs.2160/2160797
[Option ID = 2047]

3. Rs.2400/2400 %97
[Option ID = 2049]

4. Rs. 2380 /2380777

[Option ID = 2051]

Correct Answer :-

* Rs.2180/2160 79

[Option ID = 2047]

The ratio of two numbers s 17 : 19. [f the sum of both
the numbers is 180, then what is the larger number
among both the pumbers?

27 T T FAI 17 ;19 F1ATE T S m AT
180 2, 77 =TA1 A=A § § 72 9T FIe?

[Question ID = 515][Question Description = Q48_54_DGHSDEC23]
1. g5
[Option ID = 2053]
2. g5
[Option ID = 2055]
3114

[Option ID = 2057]

[Option ID = 2059]

Correct Answer :-

85

[Option ID = 2053]
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49)  Which of the following articles of the Indian
Constitution is associated with the appointment of a
govemor?

qTATT AT B Fefoiad § 750 °7 Sg=as e
£ Fafr T aafm 2

[Question ID = 516][Question Description = Q49_54_DGHSDEC23]
1. Aricle 151/ =22 151

[Option ID = 2061]
Article 155 / s7T=2= 155

[Option ID = 2063]
3. Aricle 158/ Eiﬂ_':-;:-:d 158

[Option ID = 2065]
4 Aricle 161 /3 =2= 161
[Option ID = 2067]

Correct Answer :-

®  Aricle 155 /57 =g= 156
[Option ID = 2063]

Who of the following was the founder of the Tughlug
dynasty?

TrertiaT 7 FHE T 397 F T2IT0E 977

[Question ID = 519][Question Description = Q50_54_DGHSDEC23]
1. Ghiyasuddin Tughlug /STETEE G

[Option ID = 2070]
2 Muhammad Tughlug / H2=1= TF
[Option ID = 2072]
3. Firuz Shah Tughlug | THTH 978 7T

[Option ID = 2074]
4. Ghiyasuddin Balban / 79 H_éiﬂ EEEL]

[Option ID = 2075]
Correct Answer :-

e Ghiyasuddin Tughlug / TETHEA T0AF

[Option ID = 2070]

Which of the following festivals is associated with
Kerala?

e & & i 37 == o J qdi9d 27

[Question ID = 520][Question Description = Q51_54_DGHSDEC23]
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1. Bihu/faE

[Option ID = 2077]
2. QOpam / T

[Option ID = 2079]

3. Baisakhi/THTET
[Option ID = 2081]
4. Pola /9T

[Option ID = 2083]

Correct Answer :-

®  Onam /T

[Option ID = 2079]

52)

Wha of the following was the first Vice President of
India?

FafeaT § 7 F19 9198 & 9 3T 92

[Question ID = 523][Question Description = Q52_54_DGHSDEC23]

. Rajendra Prashad /7T9% 39712

[Option ID = 2086]
2. Zakir Hussaln / 17 299

[Option ID = 2088] ,
3. MV Gir /AT AT T

[Option ID = 2090]
Sarvepalll Radhakrishnan / §3 7]

[Option ID = 2092]

Correct Answer :-
Sarvepalli Radhakrishnan / F377]

[Option ID = 2092]

Nanda Devi National Park is located in which of the
following states?

21 241 5 3 Aafafag g9 Fa g 5 e g2

[Question ID = 524][Question Description = Q53_54_DGHSDEC23]

- Uttar Pradesh / 357 w221

[Option ID = 2093]
2. Uttarakhand / 359182
[Option ID = 2095]
Madhya Pradesh /| 77 7397
[Option ID = 2097]

@pharmacyindia.co.in | @pharmacyindia24@gmail.com | () 8171313561, 8006781759
[ 5™ Download PHARMACY INDIA App from Google Play Store




Get Latest Pharma Private/ Govt. Job updates | Download B. Phama/ D. Pharma University Exam Papers | Previous Pharmacist/
DI/ GPAT/ NIPER Papers | Pharma News Updates | D. Pharma Notes | Pharmacy College Informations | Pharma Industry Updates
Visit: https:/pharmacyindia.co.in

4. Maharashtra [ 921718
[Option ID = 2099]

Correct Answer :-

Uttarakhand / 399132

[Option ID = 2095]

The 37th national games were hosted by which of the
following states?

T o N o S

B R b b B T R M B = B e ek e B e
7

[Question ID = 527][Question Description = Q54_54_DGHSDEC23]

- Meghalaya/ #9773
[Option ID = 2102]

2. Gujarat / THITT
[Option ID = 2103]

3. Goa /7T
[Option ID = 2105]

4. Odisha / AT
[Option ID = 2107]

Correct Answer :-

® Goa/TMET
[Option ID = 2105]
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55) In the following question below are given some

statements followed by some conclusions based on

those statements. Taking the given statements to be

true even if they seem to be at variance fram

commenly known facts. Read all the eonclusions and

then decide which of the given conelusion logically

follows the given statements.

Statements:

[. All Fish are Crocodile.

Il. Some Crab are Fish.

Conclusion:

|. Some Crocodile are not Fish.

Il. No Crab is Crecodile.

A= TR0 WA | e 4 S a0 412 39 $496] 99
AT B e (A 21 = ey | 7 @t A,
STg = ATHI FIG A1 4 [oAT g1 6T e 92 6
ez Tz &7 & Bo aoae T faeed, =0 =47 =
1 IR R | s TR

T

| == fT =AY, 7= 2l

||. T TE, HEAT g

TR

. #iE fiwsz, 98=2 72l gl

[Question ID = 528][Question Description = Q55_54_DGHSDEC23]

Only conclusion | follows | & e |

[Option ID = 2109]
,.  Only conclusion |l follows { &= e ||
[Option ID = 2111]
Both conclusions |'and | follows f;T-'ﬁ
e | 79T || S F T 2

[Option ID = 2113]
Neither conclusion follows | F1E A7 e

[Option ID = 2115]

Correct Answer :-
Neither conclusion follows | F1E A7 =9

[Option ID = 2115]
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56)
In the following guestion, select the missing number

from the given series.
83,53 ?,—7,-37

e o 7 5797 3T § T T A% 1 S
83,53, 7,-7,-37

[Question ID = 531][Question Description = Q56_54_DGHSDEC23]
1. 75

[Option ID = 2118]
2. 27

[Option ID = 2120]
3. 23

[Option ID = 2122]
4. 30

[Option ID = 2123]

Correct Answer :-
¢ 23

[Option ID = 2122]

In the following guestion, selectihe related letters from
the given alternatives.
CR ESuslGel

P T W2 3 [ a7 fashet # 77 A e 7 &
FAT
CRP:ES .- EaaR
[Question ID = 532][Question Description = Q57_54_DGHSDEC23]
NP
[Option ID = 2125]
RF

[Option ID = 2127]
3. HY

[Option ID = 2130]
4. GA

[Option ID = 2132]

Correct Answer :-
* HV

[Option ID = 2130]

In the following question, select the odd letterfietiers
from thie given aliernatives.

Trafaas o 5 B Faer 5 9 Fos agaseae T &1
3
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[Question ID = 535][Question Description = Q58_54_DGHSDEC23]
1. FGDI

[Option ID = 2134]
2 KLIN

[Option ID = 2136]
3. TUQW

[Option ID = 2138]
4. TURW

[Option ID = 2140]

Correct Answer :-

¢ TUuQw

[Option ID = 2138]

In a certain code language, '"HAPPY' is written as
JEVX!'. Whatis the code for ‘GUEST' in that code
language?

T T3 5E g 91HT H, 'HAPPY #r JEVX! FrarFmar
T T T 9T A GUEST & F12 FT g7

[Question ID = 536][Question Description = Q59_54_DGHSDEC23]
1. |YBAD

[Option ID = 2142]
2. YAKD

[Option ID = 2144]
3. IYKAD

[Option ID = 2146]
4. |YKBD
[Option ID = 2148]

Correct Answer :-
® IYKAD

[Option ID = 2146]
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60)
Amange the given words in the sequence in which

they occur in the dictionary.
1. Herb

2. Herd

3. Here

4. Herald

5. Her

Faferia ==t #1 sTe=mier | S a7 %5 ® Fa47 (79|
1. Herb

2. Herd

3. Here

4. Herald

5. Her

[Question ID = 539][Question Description = Q60_54_DGHSDEC23]
1. 51423

[Option ID = 2150]
2. 54132

[Option ID = 2152]
3. 51432

[Option ID = 2154]
4. 54123

[Option ID = 2156]

Correct Answer :-
¢ 54123

[Option ID = 2156]
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